
PARR DAVIS NET SHEET ---DATE:  1/1/2015

Part # Description Order Quantity

10/26/2014 All STAINLESS CLAMPS

M4P CLAMP 10\500
M6P CLAMP 10\500
M8P CLAMP 10\500
B12H CLAMP 10\500
B8HS CLAMP all  Stainless 10\500
B10HS CLAMP all  Stainless 10\500
B12HS CLAMP all  Stainless 10\500
B16HS CLAMP all  Stainless 10\500
B20HS CLAMP all  Stainless 10\500
B24HS CLAMP all  Stainless 10\500
B28HS CLAMP all  Stainless 10\500
B32HS CLAMP all  Stainless 10\500
B36HS CLAMP all  Stainless 10\500
B40HS CLAMP all  Stainless 10\500
B56HS CLAMP all  Stainless 10\500
B64HS CLAMP all  Stainless 10\500
B72HS CLAMP all  Stainless 10\500
B80HS CLAMP all  Stainless 10\500
B96HS CLAMP all  Stainless 10\500

DUCT & SPECIALTY TAPES

K-GP2280 BLK 2” Black  Duct Tape 24
K-GP2280S 2” Silver Duct Tape 24
K-GP228WH 2” White Duct Tape 24

K-GP2280BLK3” 3 X 60 YD Blk Duct Tape 16
K-12520 1\2” x 520” Teflon Tape 10\500
K-34520 3\4” x 520” Teflon Tape 10/500
K-251 2” Silver Duct Tape 25
K-821 3\4” x 66 Electrical Tape 12\144
K-830 18”x1500’ 80 Shrink Wrap 1\4
K-747 2” Carton  Sealing Tape 36
K-826-2Y 2” Yellow Gas Wrap 24
K-826-4Y 4” Yellow Gas Wrap 12
K-557B 2 X 60 UL181 Tape 24
K-557S 2 X 60 UL181 Tape 24
K-337 2 X 50 Foil Tape 24
K-1027-QT QTS PRIMER 1
K-600 3/4" x 60YD Reinforced Strapping Tape(48 rolls/CS) 1/100

Page 1 of 7



PARR DAVIS NET SHEET ---DATE:  1/1/2015

Part # Description Order Quantity

HANDICAP BARS

GB12 1-1/2” x 12” SS Grab Bar
GB16 1-1/2” x 16” SS Grab Bar
GB18 1-1/2” x 18” SS Grab Bar
GB24 1-1/2” x 24” SS Grab Bar
GB30 1-1/2” x 30” SS Grab Bar
GB32 1-1/2” x 32” SS Grab Bar
GB36 1-1/2” x 36” SS Grab Bar
GB42 1-1/2” x 42” SS Grab Bar
GB48 1-1/2” x 48” SS Grab Bar

SHOVELS AND PROBES, TOOLS

SR11-601 Ames Steel Pry Bar 18lb. (50020) 1

SR1113C 1\2" -1" Racheting Plastic Pipe Cutter
SR92720 Bully  Fiberglass 4” Long Handle Trenching Shovel 1\5
SR92721 5" Trench Shovel 1\5
SR1554300 Wood Round Point Shovel (EXRPLH) 1\6
SR1554500 Wood Square Point Shovel (ESSPLH) 1\6
SR1876700 Ames Fiberglass Forge Bow Rake (92309) 1\6
SR82535 Bully D Handle Fiberglass  Sharpe Shooter 1\6
SR99200 24" Manhole T-Handle Cover Hook
SR99201 36" Manhole T-Handle Cover Hook
SR99202 36" Bully Soil Probe 1\5
SR99203 48” Bully Soil Probe 1\5
SR99204 60” Bully Soil Probe 1\5
SR99206 36” Bully Water Meter Key 1\5
SR99207 48” Bully Water Meter Key 1\5
SR99208 60" Bully Water Meter Key 1\5
SRMPA42 42” Mighty Probe 1\6
SRMPA48 48” Mighty Probe 1\6

SR82530 Bully Fiberglass Long Handle Drain Spade 1\6
SR82515 Bully Round  Point Fiberglass Shovel 1\5
SR82525 Bully Square Point Fiberglass Shovel 1\5
SRTPT12 Mighty Probe Tip 1\6
SR92282-S Bully Fiberglass Post Hole Digger 1
SR92311 Bully Fiberglass Forge Bow Rake 1
SR99200 24" Manhole T-Handle Cover Hook 1\5
SR99201 36" Manhole T-Handle Cover Hook 1\5

SRC1202 1\2" Pex Crimp Tool

SRC1203 3\4" Pex Crimp Tool

Page 2 of 7



PARR DAVIS NET SHEET ---DATE:  1/1/2015

Part # Description Order Quantity

SRCM10 1" Pex Crimpmaker Tool

SRCM12 1/2" Pex Crimpmaker Tool

SRCM34 3/4" Pex Crimpmaker Tool

COMPRESSION FITTINGS

PDC60-4 1/4" BRASS SLEEVE
PDC60-6 3/8" BRASS SLEEVE

PD69-66 3\8" OD X 3\8"MIP ELL 25
PD69-64 3\8" OD X 1/4"MIP ELL 25
PD62-4 1\4" COMP.  UNION 25
PD62-6 3/8" COMP. UNION 25
PD62-8 1/2" COMP. UNION 25
PD62-10 5\8" COMP. UNION 25
PD62-14 7\8" COMP. UNION 10
PD62R-64 1/4" OD X 3/8" OD Reducing Union
PD62R-106 5/8" OD X 3/8" OD Reducing Union
PD60-4 1\4" DELRIN SLEEVE 100
PD60-6 3\8" DELRIN SLEEVE 100
PD60-8 1\2" DELRIN SLEEVE 100
PD60-10 5\8" DELRIN SLEEVE 100
PD61-4 1\4" COMP. NUT 25
PD61-6 3\8" COMP. NUT 25
PD61-6SC 3\8" COMP. CAP 25
PD-61-8-6 3\8" COMP. CHROME NUT

PD64-4 1/4" OD Tee
PD64-6 3/8" OD Tee

PD68-64 3\8 OD X 1\4 MALE   25
PD68-66 3\8 OD X 3\8 MALE 25
PD68-68 3\8 OD X 1\2 MALE
PD68-1412 7/8 OD X 3/4 MALE

PD66-66 3\8 OD X 3\8 FEMALE 25
PD66-68 3\8 OD X 1/2 FEMALE 25
PD66-1412 7\8ODX3\4 FEMALE 10

PD1168-6B NEW STYLE D\W ELL 1\25
PD142-4 1\4" NEDDLE VALVES 1
PD142-6 3\8" NEEDLE VALVE 1
PD249-4 SELF TAPPING SADDLE VALVE

Page 3 of 7



PARR DAVIS NET SHEET ---DATE:  1/1/2015

Part # Description Order Quantity

305 BRASS BASIN NUT

FLARE FITTINGS

PD41FP-4 1/4" Short Forge Nut
PD41FP-6 3/8" Short Forge Nut
PD41FP-8 1/2" Short Forge Nut
PD41FP-10 5/8" Short Forge Nut
PD41S-4 1/4" Short Nut
PD41S-6 3/8" Short Nut
PD41S-8 1/2" Short Nut
PD41S-10 5/8" Short Nut

PD42-4 1/4" Flare Coupling
PD42-6 3/8" Flare Coupling
PD42-8 1/2" Flare Coupling
PD42R-64 3/8" X 1/4" Reducing Flare Coupling
PD42R-86 1/2" X 3/8" Reducing Flare Coupling

PD44-4 1/4" Flare Tee
PD44-6 3/8" Flare Tee
PD44-8 1/2" Flare Tee

PD48-44 1/4" Flare X 1/4" Male
PD48-64 3/8" Flare X 1/4" Male
PD48-66 3/8" Flare X 3/8" Male
PD48-68 3/8" Flare X 1/2" Male
PD48-86 1/2" Flare X 3/8'"Male
PD48-88 1/2" Flare X 1/2" Male
PDHD48-88 1/2" Flare X 1/2" Male Heavy Pattern

PD55-6 3/8" Flare Elbow
PD55-8 1/2" Flare Elbow

PD56-4 1/4" Flare Cap
PD56-6 3/8" Flare Cap
PD56-8 1/2" Flare Cap

GARDEN HOSE

1051-8MPMH 1/2" MP X MH MALE HOSE ADPT
1051-12MPMH 3/4" MP X MH MALE HOSE ADPT

Page 4 of 7



PARR DAVIS NET SHEET ---DATE:  1/1/2015

Part # Description Order Quantity

1051-MHMH MALE HOSE X MALE HOSE ADPT
1057 BRASS GARDEN HOSE CAP
1055-8FPFH 1/2" FIP X FEMALE SWIVEL GARDEN HS ADPT
1055-12FPFH 3/4" FIP X FEMALE SWIVEL GARDEN HS ADPT
1055-FHFH FEMALE HOSE X FEMALE HOSE SWIVEL

S.S. BRAIDED CONNECTORS

S7710 12” SS LAV CONNECTOR
S7712 20” SS LAV CONNECTOR
S7713 30” SS LAV CONNECTOR
S7713A 36” SS LAV CONNECTOR

S7726 12” SS CLOSET CONNECTOR
S7727 20” SS CLOSET CONNECTOR

S4950A 60” SS DISHWASHER W\ ELL 
S4951A 72” SS DISHWASHER W\ ELL
S7759 72” Braided Ice Maker Hose
S7752 72” SS DISHWASHER W|WHIRLPOOL  ELL
S7755 5’ Braided Washing Machine Hose 1\25

STOPS

S491902 C/P RETRO FIT STOP
MISCELLANEOUS

SC3499 ICE MAKER KIT
45167 GAS TEST KIT GUAGE 1
45169 WATER TEST KIT GUAGE 1
FN-994PR Faucet Shank Extension 1PR
108-904 Vacuum Breaker 10/250
134301 Fixed Grid Strainer 25
127-006 C\P Brass Pop Up 25
993-015 1\4 “ E-Z MAX Adpt 1\25
993-016 3\8”  E-Z MAX Adpt 1\25
220-003 BASIN FAUCET
100607 1-1/2” PVC Sched 80 Gate Valve 1\12
100608 2” PVC Sched 80 Gate Valve 1\12
107015 1 1/2" PVC Flapper Check Valve 1\12
107020 2" PVC Flapper Check Valve 1\12

GAS VALVES

110-522 3/8" AGA GAS VALVE IPS
110-523 1/2" AGA GAS VALVE IPS

Page 5 of 7



PARR DAVIS NET SHEET ---DATE:  1/1/2015

Part # Description Order Quantity

110-524 3/4" AGA GAS VALVE IPS
110-525 1" AGA GAS VALVE IPS
110-223 1/2" AGA GAS VALVE IPS 2PC
110-224 3/4" AGA GAS VALVE IPS 2 PC
110-225 1" AGA GAS VALVE IPS 2 PC
116-502 3/8" Flare X Flare Gas Valve
116-503 1/2" Flare X Flare Gas Valve
116-504 5/8" Flare X Flare Gas Valve

WATER FILTERS & CARTRIDGES

9100 Clear Filter Housing w/Wrench 1\6
9101 Clear Filter Housing w/Wrench & Brackett 1\6
9110 5 Micron Sediment Cartridge 24
9111 30 Micron Sediment Cartridge 24
9112 5 Micron 5” Charcoal Cartridge
9115 5 Micron 10” Charcoal Cartridge
9117 10” Inline Icemaker Filter 1\12
9119 Mounting Bracket w/Screws 1\12
9120 Housing O Ring 1\10

RUBBER COUPLINGS & CAPS

PCX02-43 4X3 CLAY TO PLASTIC Rubber Coupling
PCX02-44 (348940) 4 X 4 CL X PL RUBBER COUPLING
PCX02-66 6 CLAY TO PLASTIC COUPLING

PCX56-22 (349190) 2" Rubber Coupling 1/100
PCX56-32 (349200) 3 X 2 Rubber Coupling 1/100
PCX56-33 (349210) 3" Rubber FERNCO Coupling 1/100
PCX56-42 (349220) 4 X 2 Rubber Coupling 1/100
PCX56-43 (392285) 4 X 3 RUBBER COUPLING
PCX56-44 (349240) 4" RUBBER FERNCO COUPLING 1/100
PCX56-66 (392285) 6 X 6 RUBBER COUPLING 1/100

PCXEC15 (613360) 1 1/2 END CAP 1/100
PCXEC2 (613370) 2 END CAP 1/100
PCXEC3 (613380) 3 END CAP 1/100
PCXEC4 (613390) 4 END CAP 1/100

Page 6 of 7



PARR DAVIS NET SHEET ---DATE:  1/1/2015

Part # Description Order Quantity

PCXNH-150 1 1/2" NO HUB COUPLING 1/100
PCXNH-22 2" NO HUB COUPLING 1/100
PCXNH-33 3" NO HUB COUPLING 1/100
PCXNH-44 4" NO HUB COUPLING 1/100

PCXNHHD22 2" H/D COLOR SHIELD NO HUB COUPLING 1\25
PCXNHHD33 3" H/D COLOR SHIELD NO HUB COUPLING 1\25
PCXNHHD44 4" H/D COLOR SHIELD NO HUB COUPLING 1\25

WELL COVERS

BF34 SMALL BACKFLOW ASSE 2PC BEIGE
BF2 LARGE BACKFLOW ASSE 2PC  BEIGE

SMALL BACKFLOW ASSE 1PC BEIGE
LARGE BACKFLOW ASSE 1PC  BEIGE

WCO SMALL BEIGE ROCK (ABS)
WC1 SMALL GREY ROCK
WC2 MEDIUM GREY ROCK
WC3 LARGE GREY ROCK
WCW1 22X22 WHITE WELL COVER
WCW 2 40 X 36 WHITE WELL COVER

SINKS

PDT252210-4H 25 X 22 10" Deep 4H SS Sink 18 Ga...Vercelli

PDT332210-4H 332210" Deep 4H SS Sink 18 Ga. - Vercelli..

PRESSURE SWITCHES

PDFSG2-20 20-40 SQUARE D PRESSURE SWITCH

PDFSG2-20M4 20\40 Square D Switch W\ Low Water Cut Off

PDFSG2-30 30-50 SQUARE D PRESSURE SWITCH

PDFSG2-30M4 30-50 Square D Switch W\Low Water Cut Off

PDFSG2-40 40-60 SQUARE D PRESSURE SWITCH

PDFSG2M4 40-60 FSG2M4 40\60 With Low Water Cut Off Switch

TANKS

PDVW20 Value Well Pump Tank

PDXT8 2.5 Gal. Expansion Tank

PDXT18 5.1 Gal Expansion Tank

WELL COVERS NOT INCLUDED IN FFA

FREIGHT PREPAID & ALLOWED  $1000  --  TUNDRA INSULATION CAN BE INCLUED IN 

Page 7 of 7


